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Bk AE 201600232084 RS 84.3] 810 |#NRNLESER 100200 |lImFRES 43 [FMElZ GRERAM) EEm |£H% |IEETTR mt
ilag 16353067 hIKZE 91.7| 810 [F&AlILSEER 100200 |IEFREZ 43 |9MELE GRERSM) EEm |£8% [FFETHL mt
MHER 24520162204400 |B[JXKZF 90| 810 |FME{LLE S ERT 100600 |FFAELES 02 |hAELE SRR EER [£8% [FEEmtHL it
FFERES 6300717348 FEXF 95| 810 |#ME{IZEEERT 101000 | EZFHA 82 | EFBITA EEm |£8% [FFEmTHL mt
BEE 16365278 LK 90| 810 |FME{LLE S ERT 105100 |IiPREEZ: 02 |lmREZ (JLEIF) EER [£8% [FEEmitHL mt
== 16365304 LIRS 87| 810 [FMR{lILE & ERR 105100 | IfEFRES 02 [IFFRESE (JLES) EEm |£8% |[IEETNTL it
PRESK 16365230 LK 83| 810 [FN&IlILESERR 105100 |IiPREEZ: 04 |IRFRES (FHEKF) EER [£8% [FEEmitHL it
M 6903216679 FEXF 95| 810 |FIME{IZEEERT 105100 |IfRFREZ 4 |IRREE (BERF) EEm |£8% [FEEmITHL mt
XUE 16353056 thl| K 90| 810 [FME{ILE S ER: 105100 |IfaPFRE= 04 |IRFRES (FHEKF) EER [£8% [FEEmiHR it
BRI 16353004 LIRS 90| 810 |FME{IZEEERT 105100 |IfRFREZ 06 |IfKES (REmESHRF) EEm |£8% [FEEmITHL mt
VL] 20165110726 RBINAE 90| 810 [FME{ILE S ER: 105100 |IfaPFRE= 10 [IfKRESF (BREEFSHETS) EER [£8% [FEEmiHR it
FEE 16365105 LIRS 77.6| 810 |Fv&AlILE S ERT 105100 |IfRFREZ 13 [IRRESE (BR=F) EEm |£8% [FEEmITHL mt
X% 16365024 RUIKRE 86.2 810 |FNENLILEEER: 105100 |IfaPFRE= 13 [IfREF (BF=F) EER [£8% [FEEmiHR it
AL 16365030 LIRS 91] 810 [#&{lLESER: 105100 |IfRFREZ 13 [IRRESE (BR=F) EEm |£8% [FEEmITHL mt
BIRET 5147179010 EExEXE 83.8| 810 |FNENLILEEER: 105100 |IfaPFRE= 13 [IfREF (BF=F) EEMm |£8% [E&AFETR |t
[EEY 16365052 LIRS 95| 810 |FIvE{lliILe S ERT 105100 [IEFREZ 15 |IRFRESF (JEFELE) IEEm |28 |IEETTL mt
B3 20165111208 RBINAE 93] 810 [FNE{ILE S ER: 105100 |IfaPFRE= 15 [IfREF (HFEE) EER [£8% [FEEmiHEL it
REE 16365288 LIRS 94| 810 |FIME{LZEEERT 105100 |IfRFREZ 15 |IRFREZF (JEFELE) EEm |£8% [FEEmITHL mt
REE 16365303 RUIKRE 90| 810 [FME{ILE S ER: 105100 |IfaPFRE= 15 [IfRESF (HFEE) EER [£8% [FEEmiHL it
skta 6301616031 FEXF 93] 810 |#IME{IZEEERT 105100 |IfRFREZ 16 [IRREZ (BRRZ) EEm |£8% [FEEmITHL mt




4 KRa KRR | S5 | RRRERBRER SRR AT SR HRER AR IR emw | B2
BRIk Z 3160901103 o ERKE 75.8| 810 |#v&AlILE S ERT 105100 |IiPRES 31 |ARE (OMER) EER [£8% [FEEmTL mt
g 16365056 thil| K% 90.8| 810 [FNE&ALILEEER: 105100 |IRRES 31 |ARE (LMER) EzER [£8% |[FFEmTE) mt
XU BERk 320160916710 =MAZE 89| 810 [#h&{liZeSER: 105100 |IifPRES 31 |ARE (DMER) Eem |£8% [FEEmiTHL mt
F3iA 20167510343 AR 85| 810 |Flv{llILE S ERT 105100 |lIEFREZ 31 |ARE (LMER) EEm |£B% |IEETTHR it
Disaai 6903216289 @chf%‘- 75| 810 |FlvE{lliIZe S ERT 105100 [IfEFREZ 31 |WEE (DMERR) el [28% [FEEmitE) Mt
IR 2016152187 RIREERIAS 80.6] 810 [#EAILILESERT 105100 [IFRES 32 |ARE (MKR=E) JEem |28 |[IEETNHR it
PRIES 16365229 LK 85| 810 [#&{lZeSER: 105100 |IifPRES 34 |ARE (BHER) Eem |£8% [FEEmiTHL mt
BégyeR 2015052723 B AF 88| 810 |FlvE{llILE S ERT 105100 |IEFRES 34 |ARE (BER) EEm |[£8% [FEEm) it
S 16365036 FUIXRE 84| 810 |Fv{lliILe S ERT 105100 [IfEFREZ 35 |ARlE (A WSHEHR) el [28% [FEEmitE) Mt
BRASIR 16365009 thil| K% 89| 810 [FMR{ILEEERR 105100 |IRFRES 37 |[ARE (XiER) EzER [£8% |[FFEmTE) mt
5K 16353107 hlIKZE 91| 810 |#v&E{LZEEERT 105100 |IifPRES 41 |5hEEE (BN EzEm 284 [FEEmHE) mt
=% 16365241 FhllIXZE 74.3| 810 [FELLESERT 105100 |IRRES 43 |9MELE GBERAM) EEm |[£8% [FEEm) it
ERIEEE 201600232032 IEXE 80| 810 |Fv{llize S ERT 105100 |lImFREZ 43 |5MEEE GERAL) Eem |£8%F |[IEETHR Mt
RI—TT 2016151621054 Pa)IIR= 80| 810 |Fv&{lliILE S ERT 105100 |IEFRES 43 |9MEIE GBERSM) JEem |28 |[IEETNHR it
HT 70160834 EMAE 80| 810 [#h&{lZeSER: 105100 |IifPRES 43 |9MEEE GERIL) EER [£8% [FEEmITL it
[EiEEE 1610122607 b= XF 83| 810 [FMR{IILE & ERR 105100 |IEFRES 43 |9MELE GRERSM) kel |£B% |[IEETNER it
Bkl = 2017317010106 thERIAZF 94.2| 820 [}/ =Ek: 100100 [EfEE= 2 | EfiES (9FESF) EzEm |[£8% [FEEmTHE) =t
gk—22 2017303504 FEdb Tl K 97| 820 [ EE =k 100100 | EtE=S 2 [BEEE (9FEF) EzEm [£B8% |[FFETTE) mt
ERE 16365055 RUIKRE 89.6] 820 [fiEE =R 100200 |lImFREZ 04 |fRERZ EzEm |[£8% [FEETHE) it
BERARES 6300616241 FEAT 82.4( 820 |MfiEE=ERx 100200 |IEFRES 06 [ZRkmS R JEem |£B% |[IEETNER it
EE R 6300616002 BEAF 83.2] 820 [Fi/E5E ==k 100200 |lImFRES 3L |ARE (OIIER) EEm =B |IEETTR L
RERHL 16365441 RUIKRE 90.2| 820 [fiEHE=Ekx 100200 |IEFRES 38 [RRlE (1B3»m) JEem |£B% |[IEETNER it
EESE 20160720128 RBINAE 93] 820 [ EE ==k 105100 |IifPRES 04 |IRFRER (HEKF) EER [£8% [FEEmITHL it
YUSZ%:a 201630191089 HHEITEAE 77.3[ 820 |MfiEE =& 105100 |IEFRES 06 |InKES (REmESHRF) JEem |£B% |[IEETNER it
RIS U201690037 RS 92| 820 [ EE ==k 105100 |IifPRES 15 [IfREF (HFRE) EER [£8% [FEEmITHL it
EXEEIY 16365179 RUIKRE 87.4( 820 |MfiEE=Ebx 105100 |IifRFREZ 24 |IFRES (BEEZS) EzEm [£B8% |[FFETTE) mt
A= 6303416080 FaEXAF 71.8 820 [MfifEE=ERx 105100 |IifPRES 41 |5MEEE (BN EER [£8% [FEEmITHL it
REBE 1611183 BaPERKE 76.4( 820 |MfiEE =& 105100 |IRFRES 41 |5hEEE (BN EzEm [£B8% |[FFETTE) mt
XEE 2016051758 B AF 85| 820 [ EE =Ekx 105100 |IifPRES 43 |5MEEE GERIL) EzEm 288 [IFEmTE) mt
TR A09170076 LRI AE 88.6| 830 [FLLIARELFLy 100100 |ErtES J2 | BiESR (DTFEF) EEm |£8% |[IEETNTL mt
BRI 16353042 Al 83.17| 830 [ LLIBRR L 100200 |lImFRES 12 |BRRI= EEm |£H% |IEETTR mt
ESSED] 16353014 LIRS 91.4| 830 [ LLIERRIHL 100200 [IEFREZ 12 |BRRl= EEm |£8% |[IEETNTL mt
XU ER 16365198 Al 93.4] 830 [ LLIBARR L 100200 |lImFRES 12 |BRRI= EEm |£H% |IEETTR mt
XRE 2016152395 RREERKSE 96.67| 830 [HLLIBRRIHL 100200 [IEFREZ 12 |BRRl= EEm |£8% |[IEETNTL mt
HEXRE 3158010054 o ERKE 91.67| 830 |FLLARRIFL 100200 |IifPFRE= 12 [BRRIZ EER [£8% [FEEmitHL it
b 2016151621139 Pa)IIK= 85 830 | LLARE L 100200 [IEFREZ 12 |BRRl= EEm |£8% |[IEETNTL mt
Rt 24520162204310 [BI )K= 89.6| 830 [ LLIARR L 100200 |lImFRES 12 |BRRI= EEm |£H% |IEETTR mt
BH&E 20165110228 KB 92.6| 830 [ LLIERR L 100200 [IEFREZ 12 |BRRl= EEm |£8% |[IEETNTL mt
BEoE 2016102220 KiEERIKZE 94.6( 830 |FLLAREIFIL 101000 |EZFHA 88 [t EER [£8% [FEEmtHL it
PR 16365364 hIKZE 89.57| 830 |FLLAREIL 105100 |IERES 16 [IfRES (BRRIZF) EEm [28%F [FEEmE mt
e 16365187 Al 92.83| 830 [ LLIARR} L 105100 |lI&FREZ 16 |IlmRES (BRRE) EEm |£HF |IEETTR m*
B 6300116056 BaAF 88.14| 830 |FLLARRIFIL 105100 |IfRFREZ 16 [IfRESF (BRRIZF) EEm [28%F [FEEmTE mt
ML 24520162204273  [BIJKZ 91.5] 830 [HLLIERR L 105100 |lImFRES 16 |IlmRES (BRRE) EEm |£HF |IEETTR mt
XEE 1503160210 FrREXFE 94.33] 830 |FLLARELHL 105100 |IEFREZ 16 |IRFRES (BRRIS) EEm [2B8%F [FEEmTE) mt
X TR 6300616188 EaEAE 88.43| 830 |HLLARR L 105100 |IfaPFRE= 16 [IfREZF (BREE) EER [£8% [FEEmiHR it
X35 20165111420 RBINAE 76| 830 [FRLLBRRIHC 105100 |IEFREZ 16 |IRFRES (BRRIS) EER [28%F [FEEmHTE) mt
HiEE 6303616033 FEAT 90.29| 830 [ LLIARR} L 105100 |lI&FREZ 16 |IlmREZ (BRRE) EEm |=£HF |IEETTR mt
TR 2016051769 BpAE 91.83| 830 [HLLIBRR AL 105100 [IEFREZ 16 |IlmREZ (BRRE) IEEm |28 |IEETTL mt
Ehe= 32620152200419 [BI A= 91.5] 830 [ LLIARR L 105100 |IImFRES 16 |IlmREZ (BRRE) EEm |=£HF |IEETTR mt
FEME 6303416011 BEEAF 91| 830 [FRLLBRRIHC 105100 |IEFREZ 16 |IRFRES (BRRIS) EER [28%F [FEEmHTE) mt
ESESE 6303716003 EaEAE 89.14| 830 |FLLARR Ly 105100 |IfaPFRE= 16 [IfREZF (BREE) EER [£8% [FEEmiHR it
T 16365344 LIRS 89.17| 830 |FLLARRIFIL 105100 |IEFREZ 16 |IRFRES (BRRIS) EER [2B8%F [FEEmTE mt
ESNi) 16365392 thl| K 92.43| 830 |FLLARR L 105100 |IfaPFRE= 16 [IfREZF (BREF) EER [£8% [FEEmiHEL it
Moz if U201612395 RS 93.83| 830 |FLLARRIFIL 105100 |IEFREZ 16 |IRFRES (BRRIE) EER [28%F [FEEmTE) mt
wkFR 16353173 K 84.83| 830 |HLLARR L 105100 | IfEFRES 16 [IfREZF (BREE) EER [£8% [FEEmiHL it
Sk{EE 16365086 RLIRE 90.14| 830 [FLLIBRR AL 105100 [IEFREZ 16 |IlmREZ (BRRE) IR |£8% |IEETTL it
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EEEE 6300616115 FaEAF 90.86( 830 |FLLARRIFIL 105100 |IiPRES 16 |IRFRES (BRRIE) EER [£8% [FEEmTL mt
] 16365090 K 92.5| 830 [ LLERR}FL 105100 |IRRES 16 |IRFREZ (BRRIZ) JEem |28 |[IEETNHR it
EEES 16365315 LK 94.67| 830 |FLLARRIFL 105100 |IifPRES 16 |IRFRES (BRRIE) Eem |£8% [FEEmiTHL mt
BERTR 17338002 RUIRE 98| 840 |pvEERH &L 100100 |EftES 2 | BEiES (97 ESF) EEm |£B% |IEETTHR it
TRIKEE 11117328 BN 81.1| 840 [vEERrEE=L 100100 |EfEE= 2 | EfES (9FES) el [28% [FEEmitE) Mt
FRArE 320170927241 =RE 90| 840 |pEERH &L 100100 |ERtES 2 | BEiES (97 ESF) IEEm [£B% [FEEITHR it
YFRIET 6302716003 BEAF 94| 840 |ByEEBE ALy 100100 [EfEE= 2 | EiES (9FES) el [28% [FEEmitHE) mt
oK1 2016051796 BEAF 95| 840 |FEERH &L 100200 [IFRES 17 | B IEEm [£8% [FEEITHR it
XUEERR 6300616278 FEAF 96| 840 [ApfEBEAHC 100200 |IffPRES 51 |fPEEE (MvERED Eem |£8% [FEEmiTHL mt
BHRIRL 6300616181 AT 95| 840 |BhyEEBH ATy 100200 |IERES 51 Rz (BhyeEAEL) EEm 285 [FEEm) it
—— 16365208 hlIKZE 94| 840 [ApyEBEAHL 100200 |IifPRES 51 |fPEEE (BvERED Eem |£8% [FEEmiTHL mt
BRI 6302716056 BEXF 95| 840 |ppyEERH =y 100200 |IRREZ 51 |fiyEE= (BhyEEufl) ExEm |[£8% [FEETRTHE) mt
Pim= 6300616397 FEAF 95| 840 [ApfEBEAHL 100200 |IffPRES 52 |ifEEE (BvEshelh Eem |£8% [FEEmiTHL mt
P& 6303416164 AT 90| 840 |BhyEEBH AT Ly 100200 |IERES 52 |IES (BEEshED EEm 285 [FEEm) it
FENR 16353043 thll | K 93| 840 [AyEBEIAHC) 100200 |IffPRES 53 |EZF (hEEmEdiarT) EER [£8% [FEEmITL it
XBRL 16353044 U KFE 96| 840 |FhyEEBH AT L) 100200 | IEFREZ 53 |IESF (BMEREdiaT) EzEm [£B8% |[FFETTE) mt
MEIY 16365108 LIRS 94| 840 [AbyEEBEIAHL) 100200 |IifPRES 53 |EZF (hEEmEdiarT) EER [£8% [FEEmItHL it
WIEF 16365263 K 96| 840 | BhyEERE; &Ly 100200 |IEFRES 53 |IESF (BMEREdiaTT) kel |£B% |[IEETNER mt
RIS 201620232213 I 81| 840 [AdyEEBE AL 100200 |IifPRES: 54 |iyEZ (BhfEESCISiAE) EER [£8% [FEEmITHL it
REESZ) 20165110404 RBINAE 95| 840 [ApsEEBE AL 100200 | IEFREZ 54 |BPEE= (BhyEEsLIatAsR) EzEm [£B8% |[FFETTE) mt
B 16365420 LIRS 90| 840 [AhyEEBEIAHL) 100200 |IifPRES 54 |iyEZ (BhfEESCIEAER) EER [£8% [FEEmITHL it
SRAEIS 2016302180326 N AF 96| 840 | BhyEEBE; &Ly 100200 |IEFRES 54 |jEE= (BhyEESCERAS) JEem |£B% |[IEETNER it
EXtElE 16365087 RUIRZE 92| 840 |phyEERH =Ly 100200 |IERES 54 |iyEZ (BhfEESCIEAER) EzEm |[£8% [FEETHE) =t
X TR 16353108 RUIKRE 91| 840 |BfEEBh & 100200 |IRRES 54 |BPEE= (BhyEEsLIatfsR) EzEm [£B8% |[FFETTE) mt
i) 24520162204297 |BIIXZF 96| 840 [AyEREIAHL) 105100 | IEFRES 18 |ImPRES (FREES) EzEm [2B8% [FFEmTHE) mt
3 1630504012 R 91| 840 |fhyEEBGia L) 105100 |IEFRES 22 |IGRESE (FETIRES) JEem |£B% |[IEETNER it
ZE5 1630507035 DINKE 91| 840 [AyEBEIAHL) 105100 | IEFRES 22 |InRES (HEHEE) EER [£8% [FEEmITHL it
TERENL 6300616475 BEEAF 93| 840 [ApyEEBE AL 105100 |IEFREZ 22 |IiRRES (hEIAPEES) EzEm [£B8% |[FFETTE) mt
B R 1630509023 DINKE 89.3| 840 |fdyEERAIE L) 105100 | IEFRES 22 |InRES (HEHEE) EER [£8% [FEEmITHL it
WE 1630509052 DINKZF 93| 840 |BpyEEBEia I 105100 | IfEFREZ 22 |IGRES (FETIES) EEm |£8% |[IEETNTL mt
R=1Ey 16365222 LK 91| 840 [ApyEBEIAHC) 105100 | IEFRES 22 |IinRES (PEIIPEES) EER [£8% [FEEmitHL it
B 201630687092 BT AXF 89.6| 840 [FHEERmIAHL 105100 | IfEFREZ 23 |IfREZF (HMEI/&F) EEm |£8% |[IEETNTL mt
IRRE 2016051759 B KF 95| 840 [ApyEEBEIAHC) 105100 |IiPRES 51 | (BhyEEuED) EER [£8% [FEEmitHL it
XUtk 6300616257 FEAF 94| 840 | fhyEEBGia L) 105100 [IEFREZ 51 |EZ (BEmED EEm |£8% |[IEETNTL mt
F 6300616173 BEAF 93| 840 | BhyEEBh;a =Ly 105100 |lImFRES 51 |ppEE= (BhyEEPaEt) EEm |£H% |IEETTR mt
FB 6300616425 BEEAF 90| 840 [ApyEEBE AL 105100 |IEFREZ 51 [APfEE= (BiyEaEl) EEm |£8% [FFETHL mt
oRKIRRIRS 6300616429 BEAF 93| 840 | BhyEEBh;a =Ly 105100 |lImFRES 51 |ppEE= (BhyEEPaEt) EEm |£H% |IEETTR mt
SR 43116216 REAF 91| 840 |BpyEEBE a1 105100 [IEFREZ 51 |EZ (BEmED EEm |£8% |[IEETNTL mt
EEH 6303416012 FEaEAF 88| 840 [AdyEEBE AL 105100 |IifPRES 52 |iPEEE (BEyhel) EER [£8% [FEEmtHL it
EIEIE 6300616371 BEEAF 86| 840 [AfEERG AL 105100 |IEFREZ 52 |iPEEs (Bivesyhel) EEm |£8% [FFEmTHL mt
=ER 1610122707 It=XE 98| 840 [ApyEEBEIAHL) 105100 |lImFRES 52 |iPEEE (BEshel) EER [£8% [FEEmitHL it
B 16365033 hIKZE 90| 840 |BpyEEBE a1 105100 [IEFREZ 52 |IE= (BpyEEsheD EEm |£8% |[IEETNTL mt
i 1610122711 t=KZE 91| 840 |ByEEBE a1 105100 |lImFRES 52 |fiyEE= (BhyEEshel) EEM |£8% [FEETHL it
EXIEHR 6300616110 FEXF 92| 840 |BfEERE Ay 105100 |IEFREZ 52 |fEES (BvEsbeh EEm [2B8%F [FEEmTE) mt
ABASHE 1610122819 It=XE 98| 840 | BfEEBE A 105100 |IfaPFRE= 52 |iPEEE (BiyEyhel) EER [£8% [FEEmiHR it
BB 6300616364 FEXAF 84| 880 [P/ESE/~ERR 100200 |IEFREZ 41 |5hEEE (BN EEm |£8% [FEEmITHL mt
2aiE 16353053 FIXZE 91| 880 [MI/ESE/ERR 100200 |IfaPFRE= 41 |5hEEE (BN EER [£8% [FEEmiHR it
RS 6303416045 FEXAF 90.4| 880 |Fi/EE/~ERx 105100 |IEFREZ 15 |IRFRESF (JHFELE) EEm |£8% [FEEmITHL mt
F—= 24520162204317 |B|JKXKZF 89| 880 |MyEE/~Ekx 105100 |IImFRES 19 |IRRES (IRARFE) EEm |=£HF |IEETTR mt
2 2016113031 T MNERIKZ 90.2| 880 [FifEEE7 ErRR 105100 [IEFREZ 24 |IfREF (BFEES) EEm |28 |IEETTL mt
X7 6303416070 EaEAE 89| 880 [F/EZE N ERk 105100 |IfaPFRE= 41 |5hEEE (BN EER [£8% [FEEmiHR it
Bl 6300616476 FEAF 92| 880 |MESE/~ERT 105100 [IEFREZ 41 |FMELE (BN IEEm |28 |IEETTL mt
SRR 16365443 RUIKRE 87| 880 [F/EE N ERx 105100 |IfaPFRE= 41 |5hEEE (BN EER [£8% [FEEmiHEL it
=rkiE 201730193018 HEEAE 92.2| 890 [[i/EHE R ER: 101000 |[EFHFA 82 | EFMITIA IR |28 |IEETTL it
el 16365235 hlIKZE 88| 890 [ EE A ER: 105100 |IfaPFRE= 05 |IRFRES (BrmSaElES) EER [£8% [FEEmiHL it
artE 201630191060 HElEAE 81.75| 890 [iEE R ER 105100 [IEFREZ 15 |IRFREZF (JEFELE) IR |£8% |IEETTL it




4 KRa KRR | S5 | RRRERBRER SRR AT SR HRER AR IR emw | B2
XEE 16365382 LK 95| 890 |MEE A ERR 105100 |IiPRES 16 [IRREZ (BRRIZ) EER [£8% [FEEmTL mt
RNEE 6903216345 BEEXF 87.16| 890 [iEFE A EM: 105100 |IRRES 21 |IRFRES (BhfEEs) EEm 285 [FEEm) it
EiER 6903216321 BEXF 79.1] 890 [F/EFE R ERR 105100 |ImFREZ 22 |IiRRES (REIIEES) el [28% [FEEmitHE) mt
el 320160921651 =K 88.6] 890 [FiEHE T ER: 105100 |IRRES 23 |IRRES (MEs&F) EEm |[£8% [FEEm) it
M ¥&R 2016113024 I MNERIKZ 86| 890 |EE A ERT 105100 |IEFREZ 24 |InREF (BFEES) el [28% [FEEmitE) mt
[EIESE 6300616060 BEXF 80| 890 |MEE A Epk 105100 |IRFRES 36 |AEE (5%) EzER [£8% |[FFEmTE) mt
MIESA 201730761142 fErglE T K% 90.65| 991 | R A EIHR 020200 | &S 02 | XI5 EER [£8% [FEEmTL mt
RER 1120172572 FtFET XS 74.3] 100 |I8FEEZ R 020100 [ %F 04 |FEEEFE EzEm [£8% |[FFEmTE) Hig4
Kok 201717020316 RS 65| 100 |IRFaF R 020100 |[ERLEREF 04 [FAHE5F Eem |£8%F |[IEETHR BiE4E
=E 2017302010242 N 83.5| 100 |I8FEEZ R 020200 | N BBEFE 03 | BI= EzER [£8% |[FFEmTE) Hig4
IR 17334093 LK 80| 100 [I¢F= B 020200 [ AZFZF 04 | &Rt EER [£8% [FEEmTL Big4E
5= 1606170324 R ASE 74.5] 100 [I8FEaZ ke 020200 | ZE S 04 | ER= EEm |[£8% [FEEm) BfE4
EiE 17334171 thll K 83.5[ 100 |I8FF=Fe 020200 | &S 04 | &Rt EzEm 284 [FEEmTE) Big4E
Fin 17120011029 FEEELSE 87.5] 100 [I8FEE=FR 120100 |EERIZF5TIE 81 RSN ETE EzER [£8% |[FFEmTE) Hig4
BRIER 17334008 LIRS 87.8| 100 [I&FF=Bx 120100 |EERIZ5TiE 82 | RIR5EE EEm =B |IEETTR B4
XTE 201730565436 g T KF 84| 100 |[¥FEaZ R 120100 |EERIZF5TIE 82 |{H5ETE EzEm [£B8% |[FFETTE) Hig4
FiE 17331065 LIRS 93| 112 [FHEFHR 060200 [FESE 87 |RZEH EER [£8% [FEEmItHL Big4
RiEgs 17331047 LIRS 96| 112 |[FEZFER 060200 |[hEE 91 |HEIRHSE EEm 285 [FEEm) BfE4E
B EE 1172300202 BRETTI RS 73.4[ 140 | EEZBe 120200 | T 69 [ A HE EzEm 288 [IFEmTHE) Big4
B 17329013 RUIKRE 88.8[ 290 |MEIRIF 5 TIES 080500 |#HFRIF5TiE 01 [MEESIE EzEm [£B8% |[FFETTE) Hig4
MR 17301053 LIRS 88.84| 290 [MEIRIZ=E5 T2k 080500 |MHERI=5 T2 01 | MR 5= IEEm [2B% [IEETH BiE4E
=g 17328005 Fll K= 92.6| 310 |[(*FF = 070300 |14 01 [FAHLE EEm |£8F |IEETTHR BfE4%
22 RS 17328044 thl K 92.8] 310 [(*FFE= 070300 [{tZ 01 [FHULE Eem (285 [3EEmITR BiEE
BLE 17329051 thil| K% 86.4| 310 [{tF =% 070300 [#4= 04 |8 EzEm [£B8% |[FFETTE) Hig4
=L 201709020225 RS 93.8 310 |1t== e 070300 [{£= 04 |¥IEH= EER [£8% [FEEmITHL Big4
Bk 17329006 Fll K= 92.8] 310 [ FF b= 070300 |14 J1 [=EY= EEm |£8F |IEETTHR BfE4%
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